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20215 H AT SMCHET ASHE T £IIAH #Zol MM HAHE
(271 2021. 03. 01. § 5 2022. 02. 28.77}X|)

LR
HEa Ty dAaaEY
= 4 X4 A (= A = 24 AFOH CHX | A
=ty CESI =2 | = .. FH3Eo szod 5 u S8
- o = = A-B %
Zo(a) | wasl 3u@E) | wae AE) (%) Zoi(a) | PaE| 3@ | ™y AB) (%)
1| 0.00% 1| 0.00% % TIPS 1| 0.00% 1| 0.00% %
3,169,500 | 94.19% 3,715,000 | 94.97%  A545,500 = A14.68% X ZAbAE| x| & 2,961,674 | 88.01% 3,197,000 81.73% A235,326 AT7.36%
= 165,503 | 4.92% 185,002 | 4.73% £19,499 | A10.54% T bR B[ Ab | X| & 165,501 | 4.92% 185,001 | 4.73% A19,500 | A10.54%
= 3 0.00% 3 0.00% % = olutbplaly| x| 5,600 0.17% 5,600  0.14% %
B 2,000 | 0.06% 2,000  0.05% % 8 29elH|2 X5 1| 0.00% 1| 0.00% %
[=} [==}
H % e
ol = stmsAMS2 5,000 | 0.15% 5,000  0.13% %
o] v 10,000 = 0.30% 10,000 = 0.26% %
3,337,007 | 99.16% | 3,902,006 | 99.75%  A564,999 | A14.48% 2 3,147,777 | 93.54% 3,402,603  86.99% A254,826 AT.49%
= =] -
o 1| 0.00% 1| 0.00% % o SRIXHAX] & 1| 0.00% 1| 0.00% %
- g Et
= 1 0.00% 1 0.00% % = SEXMFEX S 217,400 6.46% 509,000 | 13.01% A291,600 AB7.29%
ifi 1 0.00% 1 0.00% % g 7| Efe| RE RIS S X & 1 0.00% 1 0.00% %
[=} [==}
o 3| 0.00% 3 | 0.00% % & 2 217,402 | 6.46% 509,002  13.01% A291,600 | A57.29%
Kl E
o 1] 0.00% 1] 0.00% % 2 Sxfo| Atgh 1| 0.00% 1| 0.00% %
k=13 k=13
= = _
3 1] 0.00% 1] 0.00% % 3 T2l utst 1] 0.00% 1] 0.00% %
7 2 0.00% 2 | 0.00% % g 2 2 | 0.00% 2 | 0.00% %
28,170 | 0.84% 9,597  0.25% 18,573 | 193.53% Jletel 32 1| 0.00% 1| 0.00% %
3,365,182 | 100.0% 3,911,608 | 100.0%  A546,426 = A13.97% H2 & 54 3,365,182 | 100.0% | 3,911,608 100.0% AB46,426 | A13.97%
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= g= 2t = o]
= 0 4 o 0l 4 o (2) & E U
1 1 EHII=232 St 1,000 1,000
* 20213 HHE D232 &g 1,000
= 3,365, 181 3,911,607 £546,426
3.147.777 3.402.603 £ 254,826
1 1 J|EtAtE E Y| 1,000
- J|EtatE E S|
I=sEX 1,000
* 20213 HHE AtstE Y| & 1,000
2,961,674 3,197,000 A235,326
29| 1,383,000,000
- Q1| 623,250,000
H2UESHAMX MG 198 444,350,000
H2USSHAX MY 388 176,100,000
INEFLAEHIHWE KA 2,800,000
- WL 113,750,000
H2UESHAMXMNE 198 74,850,000
HBUSSHAX MY 388 38,900,000
- &s3z 33,300,000
H2USSEHAXAMNE 198 6,300,000
H2UESHAMXSAMNY 398 27,000,000
- A8 A S 198,200,000
H2UESHAMXMNE 198 175,300,000
H2BUSSHAX MY 388 22,900,000
- JEtRE &gl 414,500,000
H2USSEHAXAMNE 198 177,300,000
H2UESHAMX MG 398 160,000,000
202143 =aMEAEed & 37,200,000
20218 229 SEES 40,000,000
JIEFXI & S AL HI 1,814,000,000
- J|IEFXI 2 A S HI
HM2UESHAMXMNGE 198 1,114,000, 000
H2USSEHAXANY 388 646,000,000
s HithH s 212 XA 54,000,000
* 20213 HHS X2 SArH| Lo 3,197,000, 000
<KNJZ+ SSREH FZ04
29|
- Q1| 1,009,740,680
HIZUHESEHAMXAIE 1R SH 264,267,800 708,617,800
M2UESHAMXNIAMNY 398 A 123,182,880 299,282,880
ZHEAEHCIQ NS X IAIY 2N 960,000 1,840,000
- = HEINLHI 33,200,000
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& = = &% 2 = | o
2 &t = 0l 4 o 0jl 6 o (2) & & WA
HEUSSHATIZAMY 198 2 43,150,000 31,700,000
H2USHATZAMY 3RS 22U A37,400,000 1,500,000
- ¥sta 58,458,750
H2USHATAAMNY 198 2A 21,300,000 5,000,000
HZHSSHMXHAIY 3RS SH 26,458,750 53,458,750
- A S 318,170,000
H2USSEHARRAIY 128 A 123,560,000 298,860,000
H2USHAT MY 3RS 22U 23,590,000 19,310,000
- JIBt S22l 295,810,000
H2USHATAAMNY 198 2A 34,520,000 142,780,000
HEUSSHATIZAMY 378 2 /30,130,000 129,870,000
2021 S HEAECIHRE XA 2 14,040,000 23,160,000
2021 SIS T2y 2 40,000,000
- JIEtXI & S A I 1,246,295,000
HEUSSHATIZAMY 178 2 325,580,000 788,420,000
H2USHATAAMY 3RS 22U 188,125,000 457,875,000
CHE HICHH WS 215 KIFAMY 2N 54,000,000
* 20213 HAE X RESAHH SISHEN FIOIAH 0f oA 2,961,674,430
3) 2EHl AHl B3RS 165,501 185,001 A19,500( 2 XI& I 1,000
- APEE = HH 23]
H=EX 1,000
JIEFXI 2 HI 185,000,000
- JIEFXI &I 185,000,000
* 20218l H AT 2HEHIAISH] S22 ENH 0f At 185,001,000
<HEHl AHHl B3RS FIOHEFH 0L
NESsuUE2E2
- JIEtXI &bl 165,500,000
HEUSSHATIZAMY 178 2 15,000,000 110,000,000
H2USHATZAMY 3RS 22U 4,500,000 55,500,000
* 20212/ HIHE 2tEHIAIEHl B3 REN FOHEE oo 165,501,000
5,600 5,600 ekate|dl 5,600,000
- LBHHZ I
[z s{pmE==T]] 500,000
otk 500,000




s ES o= N
= == = 2} 3 o]
= = = ol & ol & 3(a) & & U S
AQEH| 200,000
Y2 EZY| 300,000
319/ 200,000
RS-
Hexzdss2 2,500,000
JlEtE48 500,000
HAZ22 500,000
STl 200,000
JlEr2 2l 2 | 200,000
* 20213 HQIE LBHRRIH B2 REN O oo 5,600,000
5) 2YHIE #2858 1 1 2goly8 1,000
- B=ER 1,000
* 20213 HOE SYLAHIE BHIREH Ol oo 1,000
6) SWSAHEES E3REYN 5,000 5,000 SwelAdEs 5,000,000
- SN HEES 5,000,000
X221 HHE SDIHHES HIREY &+ 5,000,000
7) oldiyl 10,000 10,000 ol 10,000,000
- olldIdl &lolaruol 1% LHel 10,000,000
* 202151 HIH S OiHIHl O aFo 10,000,000
EXgso2 F HIREY 217,402 509,002 A291,600
1) EXXHAKIZ 1 1 SEXRHAXI S 1,000
- H=ER 1,000
* 20215 HHE SXTAXIS Of Aol 1,000
2) RENMFSIE 217,400 509,000 A291,600| R EMUFHSKE 509,000,000
- JIHIIRFSKE 404,000,000
- AJIHIERSKE 105,000,000
* 221BHOEE SEXMHASKS ofl &Y 509,000,000
SENMFHSKE FINIE oo 217,400,000
- JIADIRHSKE 2N A251,500,000 152,500,000
- EJHIEHSKE 2o 40,100,000 64,900,000
* 20215 HOEE SEXMHASKS ofl &Y 217,400,000
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= g= =(A)2H of
= = ol &b ol &t s(2) 4B
3) JIEHHIS =Xt 1 1 JEHISSRHAFHSN = 1,000
- pE=Ex 1,000
* 202131 HOE JIEHHISENAFSNE 0f Aok 1,000
2 2
1 1 BRSSO 24 1,000
- pE=Ex 1,000
* 2021B|HOIE SOl A Ol AbQY 1,000
1 1 =o)|=29 24 1,000
EESY 1,000
*20213 I IR IEIE O Ay 1,000
39 =& 28,169 A9,596
=S = 28,170 9,597 18,573[DIE2l X121
IESENS o4 106, 135,545
IEQLESH ol 77,965,115
ILN2OIELENE - IESESH) 28.170.430 28.170.430
1 1 PIEEIPE]
geEN2 1,001,0008 — @ 1,001,000
(X108 2IEISHTY =)
LSS 1,000,0008 — @ 1,000,000
Olg G20 ANEA0 L HHMANER T2 =)
LB (D -@) 1,000
3,365, 182 3,911,608 Ab46, 426 3,365, 182,430
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